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And furthermore; there, etc. —ana lym

OVERVIEW

The &n» 12 states, ‘one should not marry on Monday, but if it is on account of 01X,
it 1s permitted’. The X3 asked, ‘what is meant by onX; if it is referring to the
previous case (where the Xn»92 stated; *w°%wa 01105 Qv W1 722K 71007Y), etc. And
furthermore why there (regarding *w°5w) the Xn»92 states 1371, and here (by *1¥) the
XN 72 states IN12’°. Our MBOIN explains the difference between 1271 and Mn.

SRR PRIV AVE]

Regarding marrying sw>>w3a (from the 7%°X1 7100) the Xn»92 writes a7 -
= 21999991 N9 919IN 1313 TINT INM (33 91 NIYNT RIN P93 19290N)

And the X3 states in the last 99 of n%yn noon, ‘the one who said 1371, meant

that we do not instruct people to do this, but we do not make them change it’ -
= NYNNIY 9N YA NI

However, here (regarding marrying °1232) the Xn»972 states =anw (which means)
79rns® (AM7); indicating a much stronger 2n°7, than merely 1373, which is only 729772,

MvoIN cites and negates *"wId:
$2AW1N 1N NINNIY 19209) RXIY 2TIN2 9599 XN NNITYT N2 )N W97 DIVIPN WIT)

And s""wn explanation® that 171 means the majority of the people, and X577
=n» means merely an individual, and the text does not read m>rn>% 1 (but
rather only 7nn); this explanation of >"wA is not convincing.?

SUMMARY
According to m»on the term (727N3%) M7 is more permissible than 1371 and
according to >"w" the reverse is true.

THINKING IT OVER
Is the X013 of NDOIN necessarily ;72rN3% AN or just AN

! The last two n19oIN on this (X 7"71 73PN 7"7) Ty, should precede this Mooin.

2 The xmx there writes; 79 17T X921 72y 1Ay X 17 X7 1R 1371 IKRT 18%M7 (... and if they did it, they did it and we
do not protest against it); indicating the people did it on their own, but did not receive explicit permission from 7"2.
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4 The difficulty with >"w1s is from the abovementioned X173 in n*wn that 1371 is only 72v°72. In addition, what is the
question according to *"w1; we can answer that by "3 where the 71pn was pushed off for merely one day it was 71
(ovn 2aM), however by "1 where the 1"'pn was pushed off for two days, there it is merely (7°1°2) 2nmn (R"wann).

3> See yIRw ‘0N,
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